	ANG	LE- BAR SIZES		
Purchas	se Description	U/M Set	Weight Per foot	∍ight per l
1/2" x 1/2" x 1/8" x 20'	ANGLE	20' Length by the foot	.38	7.6
3/4" x 3/4" x 1/8" X 20'	ANGLE	20' Length by the foot	0.59	11.8
1" x 1" x 1/8" X 20'	ANGLE	20' Length by the foot	0.8	16
1" x 1" x 3/16" X 20'	ANGLE	20' Length by the foot	1.16	23.2
1" x 1" x 1/4" x 20'	ANGLE	20' Length by the foot	1.49	29.8
1-1/4" x 1-1/4" x 1/8" x 20'	ANGLE	20' Length by the foot	1.01	20.2
1-1/4" x 1-1/4" x 3/16" x 20'	ANGLE	20' Length by the foot	1.48	29.6
1-1/4" x 1-1/4" x 1/4" x 20'	ANGLE	20' Length by the foot	1.92	38.4
1-1/2" X 1-1/2" X 1/8" X 20'	ANGLE	20' Length by the foot	1.23	
1-1/2" x 1-1/2" x 3/16" x 20'	ANGLE	20' Length by the foot	1.8	
1-1/2" x 1-1/2" x 1/4" x 20'	ANGLE	20' Length by the foot	2.34	46.8
1-1/2" x 1-1/2" x 1/8" x 20'	ANGLE	20' Length by the foot	1.23	24.6
2" x 1-1/2" x 1/8" x 20'	ANGLE	20' Length by the foot	1.44	28.8
2" x 1-1/2" x 3/16" x 20'	ANGLE	20' Length by the foot	2.12	42.4
2" x 1-1/2" x 1/4" x 20'	ANGLE	20' Length by the foot	2.77	55.4
2" x 2" x 1/8" x 20'	ANGLE	20' Length by the foot	1.44	28.8
2" x 2" x 3/16" x 20'	ANGLE	20' Length by the foot	2.44	48.8
2" x 2" x 1/4" x 20'	ANGLE	20' Length by the foot	3.19	63.8
2" x 2" x 3/8" x 20'	ANGLE	20' Length by the foot	4.7	94.0
2-1/2" x 1-1/2" x 3/16" x 20'	ANGLE	20' Length by the foot	2.44	48.8
2-1/2 x 1-1/2 x 1/4" x 20'	ANGLE	20' Length by the foot	3.19	63.8
2-1/2" x 2" x 3/16" x 20'	ANGLE	20' Length by the foot	2.75	55
2-1/2" x 2 x 1/4" X 20'	ANGLE	20' Length by the foot	3.62	72.4
2-1/2" x 2-1/2" x 3/16" X 20'	ANGLE	20' Length by the foot	3.07	61.4
2-1/2" x 2-1/2" x 1/4" X 20'	ANGLE	20' Length by the foot	4.1	82
2-1/2" x 2-1/2" x 3/8" X 20'	ANGLE	20' Length by the foot	5.9	118
	ANGLE	- STRUCTURAL		
Purchas	se Description	U/M Set	Weight Per foot	t per bar
3" x 2" x 3/16" X 20'	ANGLE	20' Length by the foot	3.07	61.4
3" x 2" x 1/4" X 20'	ANGLE	20' Length by the foot	4.1	82
3" X 2" X 1/4" X 40'	ANGLE	40' Length by the foot	4.1	164
3" X 2" X 3/8" 20'	ANGLE	20' Length by the foot		
3" X 2-1/2" X 1/4" X 20'	ANGLE	20' Length by the foot	4.5	90
3" x 3" x 1/4" X 20'	ANGLE	20' Length by the foot	4.9	98
3-1/2" x 2-1/2"x 1/4" X 20'	ANGLE	20' Length by the foot	4.9	98
3-1/2" X 3-1/2" X 3/16" X 20'	ANGLE	20' Length by the foot		
3-1/2" X 3-1/2" X 1/4" X 20'	ANGLE	20' Length by the foot	5.8	116
3-1/2" X 3-1/2" X 3/8" X 20'	ANGLE	20' Length by the foot	8.5	170
3-1/2" X 3-1/2" X 1/2" X 40'	ANGLE	20' Length by the foot	11.1	444
3" x 3" x 3/16" X 20'	ANGLE	20' Length by the foot	3.71	74.2
3" x 3" x 1/4" X 20'	ANGLE	20' Length by the foot	4.9	98
3" x 3" x 3/8" X 20'	ANGLE	20' Length by the foot	7.2	144
0 A 0 A 0/0 A 20	ANOLL	20 Longin by the root	1.2	144

3" x 3" x 1/2" X 20'	ANGLE	20' Length by the foot	9.4	188
4" X 3" X 1/4" X 20'	ANGLE	20' Length by the foot	5.8	116
4" X 3" X 1/4" X 40'	ANGLE	40' Length by the foot	5.8	232
4" X 3" X 3/8" X 20'	ANGLE	20' Length by the foot	8.5	170
4" X 3" X 3/8" X 40'	ANGLE	40' Length by the foot	8.5	340
4" X 3-1/2" X 1/2" X 40'	ANGLE	40' Length by the foot	11.9	476
4" X 4" X 1/4" X 20'	ANGLE	20' Length by the foot	6.60	132.00
4" X 4" X 5/16" X 40'	ANGLE	40' Length by the foot	8.20	328.00
4" X 4" X 3/8" X 20'	ANGLE	20' Length by the foot	9.8	196
4" X 4" X 1/2" X 20'	ANGLE	20' Length by the foot	12.80	265.00
4" X 4" X 1/2" X 40'	ANGLE	40' Length by the foot	12.8	512
4" X 6" X 1/4" 20'	ANGLE	20' Length by the foot		
5" X 3" X 1/4" X 20'	ANGLE	20' Length by the foot		
5" X 3" X 1/4" X 40'	ANGLE	40' Length by the foot	6.60	264.00
5" X 3" X 3/8" X 20'	ANGLE	20' Length by the foot	9.8	196
5" X 3" X 3/8" X 40'	ANGLE	40' Length by the foot	9.8	392
5" X 5" X 5/16" X 20'	ANGLE	20' Length by the foot		
5" X 5" X 3/8" X 20'	ANGLE	20' Length by the foot	12.30	246.00
5" X 5" X 1/2" X 20'	ANGLE	20' Length by the foot	16.30	326.00
6" X 3-1/2" X 5/16" X 20'	ANGLE	20' Length by the foot	9.80	196.00
6" X 4" X 5/16" X 20'	ANGLE	20' Length by the foot	10.30	206.
6" X 4" X 5/16" X 40'	ANGLE	40' Length by the foot	10.30	412.00
6" X 4" X 3/8" X 20'	ANGLE	20' Length by the foot	12.3	246
6" X 4" X 3/8" X 40'	ANGLE	40' Length by the foot	12.30	492.00
6" X 4" X 1/2" X 40'	ANGLE	40' Length by the foot	16.20	648.00
6" X 6" X 3/8"X 20'	ANGLE	20' Length by the foot		
6" X 6" X 3/8" X 20'	ANGLE	20' Length by the foot	14.9	298
6" X 6" X 3/8" x 40'	ANGLE	40' Length by the foot	14.90	596.00
6" X 6" X 1/2" X 20'	ANGLE	20' Length by the foot		
6" X 6" X 1/2" X 40'	ANGLE	40' Length by the foot	19.60	784.00
7" X 4" X 3/8" X 20'	ANGLE	20' Length by the foot	13.60	272.00
7" X 4" X 3/8" X 40'	ANGLE	40' Length by the foot	13.6	544
7" X 4" X 1/2" X 20'	ANGLE	20' Length by the foot		
7" x 4" x 1/2" X 40'	ANGLE	40' Length by the foot	17.9	716
8" X 4" X 1/2" X 40'	ANGLE	40' Length by the foot	19.60	784.00
ĺ				

STAINLESS STEEL ANGLE

Purchas	se Description	U/M Set	Weight Per foot	t per bar
1" X 1" X 1/8" X 20'	SS ANGLE	20' Length by the foot	.800	16.000
1" X 1" X 3/16" X 20'	SS ANGLE	20' Length by the foot	1.160	23.200
1" X 1" X 1/4" X 20'	SS ANGLE	20' Length by the foot	1.490	29.800
1-1/4" X 1-1/4" X 1/8 X 20'	SS ANGLE	20' Length by the foot	1.010	20.200
1-1/4" X 1-1/4" X 3/16" X 20'	SS ANGLE	20' Length by the foot	1.480	29.600
1-1/4" X 1-1/4" X 1/4" X 20'	SS ANGLE	20' Length by the foot	1.920	38.400
1-1/2" X 1-1/2" X 1/8" X 20'	SS ANGLE	20' Length by the foot	1.230	24.600
1-1/2" X 1-1/2" X 3/16" X 20'	SS ANGLE	20' Length by the foot	1.800	36.000

	1-1/2" X 1-1/2" X 1/4" X 20'	SS ANGLE	20' Length by the foot	2.340	46.800
ı	2" X 2" X 1/8" X 20'	SS ANGLE	20' Length by the foot	1.650	33.000
ı	2" X 2" X 3/16" X 20'	SS ANGLE	20' Length by the foot	2.44	48.800
ı	2" X 2" X 1/4" X 20'	SS ANGLE	20' Length by the foot	3.190	63.800
ı	2-1/2" X 2-1/2" X 3/16" X 20'	SS ANGLE	20' Length by the foot	3.07	61.40
	2-1/2" X 2-1/2" X 1/4"	SS ANGLE	20' Length by the foot	4.1	82
	3" X 3" X 3/16" X 20'	SS ANGLE	20' Length by the foot	3.710	74.20
	3" X 3" X 1/4" X 20'	SS ANGLE	20' Length by the foot	4.900	98.000
ı	4" X 4" X 1/4" X 20'	SS ANGLE	20' Length by the foot	6.6	132.

S.S. ANGLE TYPE 316

Purchase Description U/M Set Weight Per foot it per	bar
---	-----

2" X 2" X 3/16" TYPE 316 STAINLESS STEEL ANGLE
20' Length by the foot
2" X 2" X 1/4" TYPE 316 STAINLESS STEEL ANGLE..
20' Length by the foot

GALVANIZED ANGLE - BAR SIZES

Purcha	ase Description	U/M Set	Weight Per foot	t per bar
3/4" X 3/4" X 1/16" X 20'	GALVANIZED ANGLE	20' Length by the foot		
3/4" X 3/4" X 1/8" X 20'	GALVANIZED ANGLE	20' Length by the foot	.649	12.98
1" X 1" X 1/8" X 20'	GALVANIZED ANGLE	20' Length by the foot	.88	17.6
1" X 1" X 3/16" X 20'	GALVANIZED ANGLE	20' Length by the foot	1.28	25.6
1" X 1" X 1/4" X 20'	GALVANIZED ANGLE	20' Length by the foot	1.64	32.8
1-1/4" X 1-1/4" X 1/8" X 20'	GALVANIZED ANGLE	20' Length by the foot	1.111	22.22
1-1/4" X 1-1/4" X 3/16" X 20'	GALVANIZED ANGLE	20' Length by the foot	1.628	32.56
1-1/4" X 1-1/4" X 1/4" X 20'	GALVANIZED ANGLE	20' Length by the foot	2.110	42.2
1-1/2" X 1-1/2" X 1/8" X 20'	GALVANIZED ANGLE	20' Length by the foot	1.35	27.0
1-1/2" X 1-1/2" X 3/16" X 20'	GALVANIZED ANGLE	20' Length by the foot	1.98	39.6
1-1/2" X 1-1/2" X 1/4" X 20'	GALVANIZED ANGLE	20' Length by the foot	2.57	51.4
2" X 1-1/2" X 3/16"	GALVANIZED ANGLE	20' Length by the foot		
2" X 2" X 1/8" X 20'	GALVANIZED ANGLE	20' Length by the foot	1.82	36.4
2" X 2" X 3/16" X 20'	GALVANIZED ANGLE	20' Length by the foot	2.68	53.6
2" X 2" X 1/4" X 20'	GALVANIZED ANGLE	20' Length by the foot	3.51	70.2
2" X 2" X 3/8" X 20'	GALVANIZED ANGLE	20' Length by the foot	5.170	103.4
2-1/2" X 2-1/2" X 3/16" X 20'	GALVANIZED ANGLE	20' Length by the foot	3.38	67.6
2-1/2" X 2-1/2" X 1/4" 20'	GALVANIZED ANGLE	20' Length by the foot		
2-1/2" X 2-1/2" X 1/4" X 40'	GALVANIZED ANGLE	40' Length by the foot	4.51	180.4

GALVANIZED ANGLE - STRUCTURAL

Purchase Description		U/M Set	Weight Per foot	t per bar
3" X 3" X 3/16" X 20'	GALVANIZED ANGLE	20' Length by the foot	4.08	
3" X 3" X 1/4" X 20'	GALVANIZED ANGLE	20' Length by the foot	5.92	118.40
3-1/2" X 3-1/2" X 1/4" X 20'	GALVANIZED ANGLE	20' Length by the foot	6.3	126
4" X 3" X 1/4" X 20'	GALVANIZED ANGLE	20' Length by the foot	6.38	127.6
4" X 4" X 1/4" X 20'	GALVANIZED ANGLE	20' Length by the foot	7.990	159.8
6" X 4" X 3/8" X 20'	GALVANIZED ANGLE	20' Length by the foot	14.88	297.6

D A D A D/10 A 20 GALVAINIZED AINGLE 20 LENGTH by the	6" X 6" X 5/16" X 20'	GALVANIZED ANGLE	20' Length by the foot
---	-----------------------	------------------	------------------------

ALUMINUM ANGLE

ALUMINUM ANGLE

ALUMINUM ANGLE

ALUMINUM ANGLE

2-1/2" X 2-1/2" X 1/4" X 25'

3" X 2" X 1/4" X 25'

3" X 4" X 1/4" X 25'

3" X 3" X 1/4" X 25' 4" X 4" X 1/4" X 25' 4" X 4" X 3/8" X 25'

3" X 3" X 3/16" X 25'

ALUMINUM ANGLE				
Purchase Description		U/M Set	Weight Per fo	oot It per bar
1/2" X 1/2" X 1/8" X 16'	ALUMINUM ANGLE	16' Length by the foot	0.128	
3/4" X 3/4" X 1/8" X 16'	ALUMINUM ANGLE	16' Length by the foot	.201	5.02
1" X 1" X 1/8" X 25'	ALUMINUM ANGLE	25' Length by the foot	.28	7.
1" X 1" X 3/16" X 25'	ALUMINUM ANGLE	25' Length by the foot	0.400	10.0
1" X 1" X 1/4" X 25'	ALUMINUM ANGLE	25' Length by the foot	.51	12.6
1-1/4" X 1-1/4" X 1/8" X 25'	ALUMINUM ANGLE	25' Length by the foot	.37	8.5
1-1/4" X 1-1/4" X 3/16" X 25'	ALUMINUM ANGLE	25' Length by the foot	.51	12.75
1-1/4" X 1-1/4" X 1/4" X 25'	ALUMINUM ANGLE	25' Length by the foot	0.660	16.5
1-1/2" X 1-1/2" X 1/8" X 25'	ALUMINUM ANGLE	25' Length by the foot	0.420	10.5
1-1/2" X 1-1/2" X 3/16"X 25'	ALUMINUM ANGLE	25' Length by the foot	0.620	15.5
1-1/2" X 1-1/2" X 1/4" X 25'	ALUMINUM ANGLE	25' Length by the foot	0.810	20.5
2" X 2" X 1/8" (.125) X 25'	ALUMINIUM ANGLE	25' Length by the foot	.67	14.3
2" X 2" X 3/16" X 25'	ALUMINUM ANGLE	25' Length by the foot	0.850	21.5
2" X 2" X 1/4" X 25'	ALUMINUM ANGLE	25' Length by the foot	1.110	27.75

ALLIMINIUM ANGLE

ALUMINIUM ANGLE CLEAR ANODIZED					
ALUMINUM ANGLE	25' Length by the foot	3.38	84.5		
ALUMINUM ANGLE	25' Length by the foot	2.280	57.0		
ALUMINUM ANGLE	25' Length by the foot	1.680	42.0		

25' Length by the foot

1.40

1.4

1.99

1.28

35.0

35.0

49.75

32

Purc	chase Description	U/M Set	Weight Per foot ⊣t per bar
1" X 1" X 1/8" X 16'	ALUMINUM ANGLE CLEAR ANODI	ZEI 16' Length by the foot	
2" X 1" X 1/8" X 25'	ALUMINUM ANGLE CLEAR ANODI	ZEI 25' Length by the foot	